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. ;fnJ the —Faurl‘ff sehes 'Df 1%6 jé unction ][H’) as
fw=(=lx] , 3s7¢3 /&%)

¢=0.0f
3. /4) R-L-C circurt and the Voftage + ’ ‘
source Eft) are shown in ]’,// on EU) Ty ) 3R=¥n
Z‘;.J) respecti ve/]. Tf T()=0, Cun L=/} Z,/ /.
§°/ve the T2 A/ uf/n/ /ﬁf/‘?’? Jooy '
’éranfﬁ)’M~ . (/00%) f?lliaf679--... >,{'(S) lﬁi'g
Y. Two lines are Je](/‘nao/ as f»//w ;
[ X=[+2% (=4
g Ly (7=
F=d-1 $=31

(@) Find the shorfest Jistance fetween Li and Ly,
(L) Zind the €Zuaf/‘m of the planc which passes -é/;my/, (1,0, ) and pnle]

[ines L; and L1, ( /07,)
.(L . go/ve -éAe JLD//DW/Wj /)ounc/ai/-va/ueo/ fn:‘/em N
V.\M: UXX'H’(M"'O D</)’<7/’/ o<
Uy (0, 4) =0 , p< f<TM Ui, 1)=¢ o<y <7 K
Mg(x,v)=;a» 0<ALT U (%) M=C, o<x<m) |
o e )
where Ux= sz‘)‘ ) Uys= —%%M, ¢, and Cy are real ende & (1)

19 Determine the ma/*f,‘;y o][ X)+;‘_</ wndey Me -érmz{fvrmafwﬂ
Wedy () 5 3o xe i /30
7_ Two matrices U and /L'/ gre )’e/az‘eo/ A/ U: e"-QH/ W})Pf@ 2=/

a IS a rea constant. (The exponentia) matrix full ction may be 'eriffPfé’O/
by a Macfaurin expansion.) |
(a) )[ H /S P/e)'m{f,‘an J S/)L“l’l/ {AHIL U 1S l(”l‘{0/7-

(b) I% U is um"tarl/ s Show that H is Flermit an. (v “Z)




